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Part 1 Structure & Vocabulary
Directions: In this part there are 40 incomplete sentences. Choose the one you think is the best answer.
1、The boy fell in front of the car but fortunately the driver stopped ______ time. 
A. on            B.  at          C. with         
 D.
in 

2、I hope my teacher will take my recent illness into _______ when judging my examination. 
A. account        B. counting    
 C.regard   
    D.  observation 

3、She ______ the book on the desk. 
A.
lied 


B.
lain 


C.
laid 


D.
lay 

4、His return from abroad will have great _______ on the political world. 
A.
impact 

B.
effect 

C.
influence 
D.
force 

5、The decline of Rome _______ the disappearance of classical drama. 
A.
restrained 
B.
withheld 

C.
restored 

D.
witnessed 

6、The destruction of these treasures was a loss for mankind that no amount of money could ____. 
A.
stand up for 
B.
put up with 
C.
come up with 
D.
make up for 

7、The dictionary is very _______ and sells very well. 
A.
popular 

B.
considerate 
C.
careful 

D.
simple 

8、The discussion was so long and exhausting that _______ the speakers stopped for refreshments. 
A.
at large 

B.
at intervals 
C.
at ease 

D.
at random 

9、His job was to _______out the good apples from the bad ones. 
A.
sort 

B.
carry 

C.
give 

D.
choose 

10、The doctor tried to ______ the patient with a new drug. 
A.
recover 

B.
heal 

C.
treat 

D.
handle 

11、The last time we had a family reunion was _____ my brother's wedding ceremony four years ago. 
A.
in 


B.
at 


C.
during 

D.
over 

12、Mr. Smith came _______ because his car broke down. 
A.
by foot 

B.
with foot 
C.
on foot 

D.
at foot 

13、The engine ______ smoke and steam. 
A.
gives up 

B.
gives in 

C.
gives away 
D.
gives off 

14、The English class usually goes over homework first and takes up new work during the __ part of the hour. 
A.
latest 

B.
late 


C.
latter 

D.
later 

15、His office is on the third _______ of the building. 
A.
flat 


B.
floor 

C.
story 

D.
layer 

16、The Government has expressed its _______ of the plan to build three new factories. 
A.
trust 

B.
faith 

C.
effort 

D.
approval 

17、The government is trying to do something to ____ better understanding between the two countries. 
A.
raise 

B.
promote 

C.
heighten 

D.
increase 

18、These problems are hard to _______. 
A.
tackle 

B.
challenge 
C.
relieve 

D.
establish 

19、The governor had to _______ all his appointments for the day and rushed to the train accident. 
A.
set off 

B.
see off 

C.
call off 

D.
pay off 

20、The head office has already been _______to New York. 
A.
transformed 
B.
transmitted 
C.
transferred 
D.
transported 

21、While he __________ the poster, a door somewhere behind him opened. 
A.
is staring at 
B.
stared at 

C.
did stare at 
D.
was staring at 

22、Selecting a mobile phone for personal use is no easy task because technology ___ so rapidly. 
A.
is changing 
B.
has changed 
C.
will have changed 

D.
will change 

23、Most environment problems exist because adequate measures for preventing them ____ taken in the past. 
A.
was not 

B.
were not 

C.
were not being 

D.
had not been 
24、_______ in the dark, someone hit his head. 
A.
Sitting 

B.
As sitting 
C.
When he was sitting 
D.
Sat 

25、_______ it or not, his discovery has created a stir in scientific circles. 
A.
Believe 

B.
To believe 
C.
Believing 


D.
Believed 

26、The mother didn't know who _______ for the broken glass. 
A.
blamed 

B.
be blamed 
C.
to blame 



D.
would blame 

27、Do you deny _________ for the evil game? 
A.
worked 

B.
to work 

C.
having worked 

D.
work 

28、You will find the word “psychologist” ＿＿＿＿under “P” in your dictionary. 
A.
have listed 
B.
list 


C.
listed 



D.
listing 

29、John could do nothing but ＿＿＿to his father that he was wrong. 
A.
admitting 
B.
admits 

C.
admit 



D.
to admit 

30、I'd rather that you _________ here 
A.
aren't 

B.
wasn't 

C.
weren't  



D.
be 

31、Mr. Johnson acts as if he __________ an expert. 
A.
is 


B.
was 

C.
were 



D.
has been 

32、This ________ be a woman's watch. It must be a man's. 
A.
may not 

B.
cannot 

C.
shall not 



D.
must not 

33、There ______ in the house where Marc has been staying. 
A.
are too much furniture         B.
is too many furnitures 

C.
are too many furnitures        D.
is too much furniture 

34、A number of workers ____ in front of the factory to protest against being forced to work overtime. 
A.
is crowded   B.
have crowded    C.
was crowded    D.
has crowded 

35、His mother had talked to him for many minutes while he was watching TV, but _____. 
A.
a little did he hear  B.
little did he hear  C.
little heard he    D.
a little heard he 

36、Hardly had she walked out of the woods ___ she heard the strange scream coming from behind a tree. 
A.
than       
B.
until 

C.
since 


D.
when 

37、All the students in this class are of ___ age ___ me —sixteen. 
A.
the same …to 
B.
same…to 
C.
the same…as 

D.
same…as 

38、We should serve the people heart and soul _____ we live. 
A.
as long as 

B.
if 


C.
unless 


D.
as soon as 

39、Andy used to live in Egypt, ___? 
A.
used he 


B.
did he 

C.
didn’t he 

D.
does he? 

40、_______! You should take this chance to attend it. 
A.
How important conference is it 


B.
How an important conference it is 

C.
What an important conference is it 

D.
What an important conference it is 

Part 2   Reading Comprehension

Directions: In this part there are 2 passages followed by questions or unfinished statements. Choose the one you think is the best answer. 

Passage 1

The significance of trust is that it allows the parties involved in the relationship to indicate how they feel, what they behave, and where they disagree without fear of contradiction or reprisal (报复). Trusting relationship encourage people to disclose their plans and perceptions without hurting themselves or others. Hurt, whether real or imagined, is one of the most harmful consequences of personal relationships with other human beings. In situations where you feel that the other person has the power and intent to hurt you, trust diminishes quickly. Thus a climate of distrust appears in your relations with others. Conversely, if I can say whatever comes to my mind without getting hurt, a climate of trust pervades （遍及）the relationship. Trust is a perceptual （知觉的, 有知觉的）phenomenon that evolves from our experiences with others. If trusting were so easy, we would not need to make such a point of its importance in human relationships. To say that a person should trust others is to diminish （减少） the difficulty of producing trust. In mutual relationships, both parties must behave toward one another in trusting ways. Even though it hurts in the pit of the stomach(心窝), you must trust the other person and encourage him or her to say those things that demand a trusting response. No one likes to get hurt and few like to hurt others, especially not those others who are close to us in person-to-person relationships. We avoid expressing our true feelings lest we become the target of a revenging（报复） attack from the other person. If I indicate that I do not appreciate having you smoke in my car, I may love you as a friend or I may become the subject of ridicule for allowing little things like that to bother me. If that happens, I will be less open and less trusting of you the next time.

41、The significance of trust lies in the fact that _____. 
A.
trust is not easy to reach between human beings 

B.
trust allows people to say whatever comes to their minds 

C.
people tend to get hurt 



D.
few people like to trust others 

42、What will not happen if a person feels he will be hurt by the other? 
A.
Trust will diminish quickly. 


B.
He will disclose his plans and perceptions. 

C.
A climate of distrust will pervade the relationship. 

D.
Some harmful consequences of personal relationships will appear. 

43、Trust is a phenomenon that _____. 
A.
results from our experiences with others 
B.
comes from our perceptions 

C.
may trust in the pit of the stomach 

D.
none of the above 

44、People avoid expressing their true feelings because _____. 
A.
they become the target of revenging attack from others  B.
they are not so open and trusting others 

C.
they do not want to be attacked back by others         D. they do not want to lose friends 

45、Which one of the following statements is implied but not stated? 

A.
People usually do not like to trust those who are close to us. 

B.
People will usually get reprisal or ridicule for their trust. 

C.
If trust has been established, it will never disappear. 

D.
The negative response will usually result in the diminishing of trusting between persons. 

Passage 2
    In the traditional marriage, the man worked at a job to earn money for the family. Most men worked in an office, a factory, or some other places away from the home. Since the man earned the money, he paid the bills. The money was used for food, clothes, a house, and other family needs. The man made most of the decisions. He was the boss. 

    In the traditional marriage, the woman seldom worked away from the house. She stayed at home to care for the children and her husband. She cooked the meals, cleaned the house, washed the clothes, and did other household work. Her job at home was very important. 

    In recent years, many couples continue to have a traditional relationship of this kind. The man has a job and earns the money for the family. The woman stays at home and cares for the children and the house. Many Americans are happy with this kind of marriage. But some other Americans have a different impression of marriage and family responsibilities. 

    There are two important differences in male and female roles now. One is that both men and women have many more choices. They may choose to marry or to stay single. They may choose to work or stay at home. Both men and women may choose roles that are comfortable for them. 

    A second difference in male and female roles is that within marriage many decisions and responsibilities are shared. The husband and wife may choose to have children, or they may not. If they have children, the man may take care of them some of the time, all of the time, or not at all. The woman may want to stay at home and take care of the children. Or she may want to go to work. Men and women now decide these things together in a marriage. Many married people now share these decisions and the responsibilities of their families. 

46、Which of the following is true in the traditional marriage? 
A.
Women worked away from home to earn money for the family.  B.
The man made most of decisions. 

C.
The woman paid the bills.   D.
The man played a more important role than the woman in the family. 

47、Now both men and women have more choices as _______. 
A.
they may choose to have children or not 

B.
the man may choose to take care of the children some of the time 

C.
the woman may choose to go to work         D.
all of the above 

48、All the following statements are now true except that___________. 
A.
there is a big change in male and female roles 

B.
men and women share the responsibilities of the family 

C.
woman will leave work just because they have children 

D.
the woman doesn’t have to stay at home and take care of the family 

49、What is the marriage like in recent years? 
A.
Young couples reject the traditional relationship.
B.
The man stays at home and cares for the children and the house. 

C.
The woman has a job and earns the money for the family. 

D.
Men and women together make decisions on their respective responsibilities for the family. 

50、Which of the following is NOT true? 
A.
The man was the boss in the traditional marriage.  
B.
The woman's job at home was very important in the past. 

C.
Many Americans still have a traditional marriage.  
D.
Everyone tries to get married. 

答案：

1 ~ 5: DACAD   6~ 10: DABAC    11~15: BCDCB   16~20: DBACC  21~25: DABCA   

26~30: CCCCC   31~35: CBDBB    36~40: DCACD   41~45: BBACD   46~50：BDCDD
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选择题（50题 共150分）
1、计算机最主要的工作特点是______

A.
存储程序与自动控制 

B.
高速度与高精度 

C.
可靠性与可用性 

D.
有记忆能力 
2、构成计算机物理实体的部件被称为 ______
A.
计算机系统 

B.
计算机硬件 

C.
计算机软件 

D.
计算机程序 

3、通常所说的I／O设备指的是______ 
A.
输入输出设备 

B.
通信设备 

C.
网络设备 

D.
控制设备 

4、下列软件中,____一定是系统软件。 
A.
自编的一个C程序，功能是求解一个一元二次方程 

B.
WINDOWS操作系统 

C.
用汇编语言编写的一个练习程序 

D.
存储有计算机基本输入输出系统的ROM芯片 

5、十进制数100转换成二进制数是______ 
A.
01100100 

B.
01100101 

C.
01100110 

D.
01101000
6、中央处理器（CPU）主要由______组成。 
A.
控制器和内存 

B.
运算器和内存 

C.
控制器和寄存器 

D.
运算器和控制器 

7、微型计算机内存储器是______ 
A.
按二进制位编址 

B.
按字节编址 

C.
按字长编址 

D.
根据微处理型号不同而编址不同
8、按照总线上传输信息类型的不同，总线可分为多种类型，以下不属于总线的是 
A.
交换总线 

B.
数据总线 

C.
地址总线 

D.
控制总线 

9、计算机显示器画面的清晰度主要是决定于显示器的______ 
A.
亮度 

B.
色彩 

C.
分辨率 

D.
图形
10、计算机病毒是一种______

A.
破坏硬件的程序 

B.
输入设备 

C.
微生物“病毒体” 

D.
程序 

11、下列字符中，ASCII码值最小的是______ 
A.
a 

B.
B 

C.
x 
D.
Y 

12、“32位微型计算机”中的32指的是______ 
A.
微机型号 

B.
内存容量 

C.
运算速度 

D.
机器字长 

13、在计算机领域中通常用MIPS来描述 ______
A.
计算机的可运行性 

B.
计算机的运算速度 

C.
计算机的可靠性 

D.
计算机的可扩充性
14、Windows 操作系统的特点包括______ 
A.
图形界面 

B.
多任务 

C.
即插即用 

D.
以上都对 

15、在Windows中，关于文件夹的描述不正确的是______ 
A.
文件夹是用来组织和管理文件的 

B.
“我的电脑”是一个文件夹 

C.
文件夹中可以存放文件或子文件夹 

D.
文件夹中不可以存放设备驱动程序文件  

16、在WINDOWS应用程序中，右击任意对象都会打开一个与之有关的___________
A.
下拉式菜单 

B.
快捷菜单 

C.
控制菜单 

D.
对话框 

17、在Windows 的中文输入方式下，反复按_____键可在几种中文输入方式之间切换 
A.
Ctrl+Alt 

B.
Ctrl+Shift 

C.
Shift+Space 

D.
Ctrl+Space
18、当一个应用程序窗口被最小化后，该应用程序将_____ 
A.
被终止执行 

B.
被转入后台执行 

C.
被暂停执行 

D.
继续在前台执行 

19、在Windows的"资源管理器"窗口中，其左部窗口中显示的是______ 
A.
当前打开的文件夹的内容 

B.
系统的文件夹树 

C.
当前打开的文件夹名称及其内容 

D.
当前打开的文件夹名称 

20、下列有关快捷方式的叙述，错误的是______ 
A.
快捷方式改变了程序或文档在磁盘上的存放位置 

B.
快捷方式提供了对常用程序或文档的访问捷径 

C.
快捷方式图标的左下角有一个小箭头 

D.
删除快捷方式不会对原程序或文档产生影响  

21、下列关于Windows文件和文件夹的说法中，正确的是______ 
A.
在一个文件夹中可以有两个同名文件 

B.
在一个文件夹中可以有两个同名文件夹 

C.
在一个文件夹中可以有一个文件与一个文件夹同名 

D.
在不同文件夹中不可以有两个同名文件
22、在资源管理器中，选定多个连续文件的操作为___________
A.
按住SHIFT键，单击每一个要选定的文件名 

B.
按住ALT键，单击每一个要选定的文件名 

C.
先选中第一个文件，按住SHIFT键，再单击最后一个要选定的文件名 

D.
先选中第一个文件，按住CTRL键，再单击最后一个要选定的文件名 

23、在Windows中，要安装一个应用程序，正确的操作应该是______ 
A.
打开"资源管理器"窗口，使用鼠标拖动 

B.
打开"控制面板"窗口，单击"添加/删除程序"图标 

C.
打开MS－DOS窗口，使用copy命令 

D.
打开"开始"菜单，选中"运行"项，在弹出的"运行"对话框中copy命令
24、在Windows中下面的_____叙述是正确的。 
A.
记事本是字处理软件，不能进行图形处理 

B.
画图是绘图工具，不能输入文字 

C.
写字板不能插入图形或图片 

D.
以上说法都不对 

25、在Windows "显示属性"对话框中，用于调整显示器分辨率功能的标签是______ 
A.
背景 

B.
外观 

C.
效果 

D.
设置
26、word 具有的功能是______ 
A.
表格处理 

B.
绘制图形 

C.
自动更正 

D.
以上三项都是 

27、Word程序启动后就自动打开一个名为______的文档。 
A.
Noname 

B.
Untitled 

C.
文件1 

D.
文档1  

28、在Word 编辑状态下，进行改变段落的缩进方式、调整左右边界等操作，最直观、快速的方法是利用______ 
A.
菜单栏 

B.
工具栏 

C.
格式栏 

D.
标尺 

29、在WORD的编辑状态，按先后顺序依次打开了d1.doc、d2.doc、d3.doc、d4.doc四个文档，当前的活动窗口是哪个文档的窗口 
A.
d1.doc的窗口 

B.
d2.doc的窗口 

C.
d3.doc的窗口 

D.
d4.doc的窗口  

30、在word的编辑状态，执行"文件"菜单中的"保存"命令后______ 
A.
将所有打开的文档存盘 

B.
只能将当前文档存储在原文件夹内 

C.
可以将当前文档存储在已有的任意文件内 

D.
可以先建立一个新文件夹，再将文档存储在该文件夹内 

31、在Word的编辑状态，设置了标尺，可以同时显示水平标尺和垂直标尺的视图方式是______ 
A.
普通方式 

B.
页面方式 

C.
大纲方式 

D.
web版式  

32、在Word编辑状态，可以使插入点快速移到文档首部的组合键是 
A.
Ctrl+Home 

B.
Alt+Home 

C.
Home 

D.
PageUp 

33、在Word的编辑状态，执行编辑菜单中“复制”命令后______ 
A.
被选择的内容被复制到插入点处 

B.
被选择的内容被复制到剪贴板 

C.
插入点所在的段落内容被复制到剪贴板 

D.
光标所在的段落内容被复制到剪贴板
34、在Word编辑状态下，若要进行字体效果的设置（如上、下标等），首先应打开______ 
A.
“编辑”下拉菜单 

B.
“视图”下拉菜单 

C.
“格式”下拉菜单 

D.
“工具”下拉菜单 

35、Word文档中，每个段落都有自己的段落标记，段落标记的位置在______ 
A.
段落的首部 

B.
段落的结尾处 

C.
段落的中间位置 

D.
段落中，但用户找不到的位置
36、在Word的编辑状态中，对已经输入的文档进行分栏操作，需要使用的菜单是______ 
A.
编辑 

B.
视图 

C.
格式 

D.
工具 

37、在Word编辑状态下，若光标位于表格外右侧的行尾处，按Enter（回车）键，结果______ 
A.
光标移到下一列 

B.
光标移到下一行，表格行数不变 

C.
插入一行，表格行数改变 

D.
在本单元格内换行，表格行数不变
38、Excel文档的默认文件扩展名为______
A.
.xml 

B.
.txt 

C.
.xls 

D.
.doc 

39、Excel工作表最多可有_______列。 
A.
65535 

B.
256 

C.
255 

D.
128
40、在Excel 工作表中，单元格区域D2:E4所包含的单元格个数是______个。 
A.
5 

B.
6 

C.
7 
D.
8 

41、在Excel 工作表中，日期型数据"2001年12月21日"的正确输入形式是______ 
A.
2001-12-21 

B.
21.12. 2001 

C.
21,12,2001 

D.
21:12: 2001  

42、在Excel工作表中，选定某单元格，单击"编辑"菜单下的"删除"选项，不可能完成的操作是

A.
删除该行 

B.
右侧单元格左移 

C.
删除该列 

D.
左侧单元格右移 

43、使用坐标$D$1引用工作表D列第1行的单元格，这称为对单元格坐标的______ 
A.
绝对引用 

B.
相对引用 

C.
混合引用 

D.
交叉引用  

44、在Excel工作表中，使用"高级筛选"命令对数据清单进行筛选时，在条件区不同行中输入两个条件，表示______ 
A.
"非"的关系 

B.
"与"的关系 

C.
"或"的关系 

D.
"异或"的关系 

45、excel 中，图表是用于_______ 
A.
可视化地显示数字 

B.
可视化地显示文本 

C.
可以说明一个进程 

D.
可以显示一个组织的结构
46、在Excel中，图表是__________

A.
用户通过“绘图”工具栏的工具绘制的特殊图形 

B.
由数据清单生成的用于形象表现数据的图形 

C.
由数据透视表派生的特殊表格 

D.
一种将表格与图形混排的对象 

47、在PowerPoint中，一般在_______视图下复制幻灯片。 
A.
幻灯片浏览 

B.
幻灯片播放 

C.
预留框 

D.
注释页  

48、PowerPoint演示稿的扩展名是______ 
A.
.DOC 

B.
.XLS 

C.
.PPT 

D.
.POT 

49、为了使一份演示文稿的所有幻灯片中具有共同的对象，则使用______ 
A.
自动版式 

B.
母版 

C.
应用设计模版 

D.
大纲视图
50、在PowerPoint中，为建立图表而输入数字的区域是_______

A.
边距 

B.
数据表 

C.
大纲 

D.
图形编译器 

答案：

1 ~ 5:ABABA   6~ 10:DBACD
11~15:BDBDD   16~20:BBBBA
21~25:CCBAD   26~30:DDDDB
31~35:BABCB  36~40:CCCBB
41~45:ADACA  46~50:BACBB
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一、函数（5题，共30分）

1、设函数[image: image1.png]f(x)



 的定义域为[0，1]，则 [image: image2.png]Jf(l+nx)



的定义域为 

A. [image: image3.png]


    

 
B.[image: image4.png]


  
   

 C. [image: image5.png]





D. [image: image6.png]



2、设函数[image: image7.png]f(x)



 的定义域为[0，1]，则[image: image8.png]Jfl-lnx)



的定义域为

A.[image: image9.png]






B. [image: image10.png]


 



C. [image: image11.png]





D. [image: image12.png]



3、[image: image13.png]f(x)





 INCLUDEPICTURE "http://10.10.10.210/OnlineExam/Teacher/Files/Image/image055.gif" \* MERGEFORMATINET [image: image14.png]


, 那么[image: image15.png]f (X)



 

A. [image: image16.png]1+x



 



B. [image: image17.png]4x







C. [image: image18.png]1+2x






D. [image: image19.png]1+2x




4、[image: image20.png]sw=1+1
<



 , 那么[image: image21.png]F(fx) =



 

A. [image: image22.png]1+x







B. [image: image23.png]142z
1+x







C. [image: image24.png]





D. [image: image25.png]1+2x




5、下列各组两个函数相等的是 

A. [image: image26.png]






B. [image: image27.png]Sx)=lgx®



,[image: image28.png]g(x)=3gx



 

C. [image: image29.png]Fx)=sin’x



,[image: image30.png]


 

D. [image: image31.png]f®=



,[image: image32.png]g(x)=x+1




二、其他（15题，共120分）
6、[image: image33.png]



A. 1 




B. [image: image34.png]






C. 2 




D. 0
7、[image: image35.png]1
2
lim(<® ~Dsin—




A. 0




B. 1 




C. 2




D. -2
8、[image: image36.png]



A. 2 




B. [image: image37.png]






C. 1 




D. [image: image38.png]



9、已知[image: image39.png]sin x
lim
=0 £(37)




 ，则 [image: image40.png]fim @8

i~



＝ 

A. [image: image41.png]






B. [image: image42.png]






C. [image: image43.png]






D. [image: image44.png]



10、题目： 设[image: image45.png]


 在 [image: image46.png]


连续，则[image: image47.png]


 ＝ 

A. 0 




B. 1 




C. －1 



D. 3
11、设[image: image48.png]


 ，则[image: image49.png]tim 0 +h) S _

lim,



 

A. 2




B. -2 



C. 4 




D. －4
12、函数 [image: image50.png]


的导数为 

A. [image: image51.png]




B. [image: image52.png]x—1je”





C. [image: image53.png]'=ex+x





D. [image: image54.png]=" +xe"




13、[image: image55.png]



A. [image: image56.png]1
Sarctan 240





B. [image: image57.png]1 x
—arcsin 2+C




C. [image: image58.png]arctan 2 4C
3





D. [image: image59.png]arcsin 240
5




14、[image: image60.png][tanxax



＝ 

A. [image: image61.png]secx+C






B. [image: image62.png]sec? x+C





C. [image: image63.png]~In|cos |+ C





D. [image: image64.png]—lIn{cos x) +C




15、[image: image65.png]] (x+sin x)dx=




A. －2 



B. 0 




C. 2 




D. [image: image66.png]



16、设 [image: image67.png]


在点 [image: image68.png]My (xg,50)



的邻域内有定义：若对该领域内任何异于[image: image69.png](%, 0)



 的点[image: image70.png](xy)



 有[image: image71.png]Fxy) < f(%.5)



 ，则该函数在点[image: image72.png](%, 0)



 处 

A. 有极大值[image: image73.png]J(x0.00)



 
B. 有极小值[image: image74.png]J(x0.00)



 
C. 有极大值[image: image75.png]Fxy)



   D. 不一定有极值
17、级数[image: image76.png]


 收敛的条件是：

A. [image: image77.png]a <e







B. [image: image78.png]






C. [image: image79.png]a>e







D. [image: image80.png]



18、级数[image: image81.png]


 的收敛半径为 

A. [image: image82.png]


    


B. [image: image83.png]





C. [image: image84.png]






D. [image: image85.png]



19、矩阵 [image: image86.png]


, [image: image87.png]


，则行列式[image: image88.png]|458|=



 

A.  23 　 



B. -23 　　　 


C. 36 



D. -36
20、矩阵 [image: image89.png]




 INCLUDEPICTURE "http://10.10.10.210/OnlineExam/Teacher/Files/Image/image474.gif" \* MERGEFORMATINET [image: image90.png]


的逆矩阵为 

A. [image: image91.png]


    B. [image: image92.png]



 C. [image: image93.png]


   D. [image: image94.png]



答案

DBBBB  CABAC

CDDCB  ACDDC
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